ax> = (2a+c)x-1= (b-2)x> + (b+c)x — c7F x 9 Fkel

I
Hlo

W, a+b+co 727

— |

B -

|

— ™



/\xoﬂ tfote] x2—3x+2 = a+bx+cex(x—1)+dx(x—1)(x—2)

A W, a+b+c+do G F5HH? (Ha, b, ¢, dE



(x) = x*-2x* +3x - 45 A x+ 12 Y3l b9






@ (x-y)(x+y+1)
@ (x=y)(x-y-1)

® (x+y)(x+y+1)

@ (x+y)(x-y-1)

@ (x+y)(x+y-1)



R (x— 1) + 278 WEEA] QGRS 2L

O (x-1)(x*>+3) @ (x-1)(x*-x-2)
® (x=1)(x*+3x+3) @ (x+2)(x>+x+7)

® (x+2)(x*-5x+13)



7. T OA 3xt-2x3-9x7 +4, 3x3-3x%—6x 2] HFE FoHHY

O x-1)(x-2) @ (x+1)(x+2) ® (x+1)(x-2)
@ (x=-1)(x-2) ® (x+1)(x-1)



A RS A 3 fax +b, X3 +ex?+a, ex?+bx+4, 9 F
StU7t x—1€ W, a + b + ¢ 9 FHe?

@D 2 Q -2 3 3 @ -3 B 4



9.

k ] groll BAIRLO] (3k2 + 2k)x — (k4 1)y— (k% — 1)z 2] Zto] A
o, x +y+z9 F2?

D -3 ® 0 3 3 @ 6 B 8



. o
"l‘?ﬂke

u) 53t oA S

zPAHor ot ek i =1L W, a+b+c9

xofl gt oFdA 3 +ax® +bx+cE x-12 Lt
et 2o
= A S A2
111 a b c
d e f
1 g h u
D -2 ® -1 3 0 @



11. (2% - 1)2 60 I} 70 Ato] 9] @

AN
=7

@ 61, 63

@ 63. 67

@ 61, 65

® 67. 69

® 63, 65



12.

x O gt oA A = 42 +ax+ b, B=x*+bx+a 9] N5 G
7h x ol ek YaAo|IL A+ B =G(px+4q) @™, & a+b+p+q
o] gk2?

D -1 @ 0 31 @ 2 ® 3



13.

xoll T A f(x) 5 1?42 e UHAE 20+ 1012, g(x) 5
x2=5x+6 28 Uie U= x—4 0]t} o of, (x+2)f(x)+3g(x+1)
S x-22 e YA E FotH?

D7 @ 9 ® 13 @ 17 ® 23



)
=



15.

2x%2 +xy—y2 +10x + 4y + 125 x, vy T A2 0] HFOo g2 Q4R
SHSHH, (x+ay+b)2x+cy+d) 7t AHL S W, a+ b+ c+d ]
~ﬁoQ(L,a b, ¢, d = &5)

D 6 @ 7 B 8 @ 9 ® 10



